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~The method of solving the price of the book~
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the price of a copy of Taiheiki is x.
Building an equation,

16(x+1.35) =40x

16x+21.6=40x

1
(I'he price of a copy of Seventh kougi is x+1.35 and

21.6=24x

Charge:Maruyama
Miyamoto

0.9=x

Therefore, the price of one volume copy of Taiheiki is 9°%. The price of
one volume copy of seventh kougi is x+1.35, it substitute 0.9 for x then,

0.9+1.35=2.25. 2.25 js 2"™monme 2bu gri sq the price of one volume copy
of seventh kougi is 270nme 2bu gri,
0.9 X 40=36 and 36 is 36™°""€ 5o the amount of money is 36°™™Me,
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Charge: Maruyama
Miyamoto

Question
Sixteen copies of Seventh Kougi and forty
copies of Taiheiki are the same price.

The price of a copy of Taiheiki is 1onme 3bu 5ri
of a copy of Seventh Kougi .

How much is each one volume?

Answer

The total is 36™°"Me,

The price of a copy of Seventh Kougi is 27°mme by
The price of a copy of Taiheiki is 9P%.

Solution
1monme 3bu Sri

cheaper than the price

multiplied by sixteen volume is 21™0"Me U Thjs js

the right.

Forty volume minus sixteen volume is twenty four volume to the left.
That Taiheiki of one volume is twenty-four volume into 21™onme gbu
gives

gbu,
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Charge:Maruyama

The thin sheet of Mino paper were used in Miyamoto

the book of Edo period. Mino paper is a general term
for traditional Japanese paper produced in Gifu prefecture (Mino country),
and it is famous high-quality paper. It is bigger and stronger than Japanese
paper for calligraphy.

Mino paper is used for shoji paper, tracing paper and so on.

The Real Mino paper was designated as intangible cultural asset in 2014.
What can verify that is thing publication in 1647 is the oldest.

The book wholesaler had dealt in serious book such as academic book, Ji-
hon wholesaler have kusazoushi, and the mass media book such as human
feeling book.

[ Ji-hon ]of Ji-hon wholesaler means print media of the land of their own.
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Summary Miyamoto | . SU{LIT4E (18044 )ik
It was the question that find one copy of each a + P FAC.(2010)L =63

MEEE F10% 1 RIEMN
book and total copy of the books based on b TR AL
becoming the price of Seventh kougi and Taiheiki )
are the same each a certain number of books.
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The bad point was that it took for a long time
because of the bad cooperation when we were
going to translate to contemporary Japanese and
understand the question.

https://kotobank.jp/word/%
E8%8D%89%E5%8F%8C%
E7%B4%99-55112

Impression

| thought that old people had got the solution
which was like one of modern because the part
how to solve this question was very similar to it.

| was very interested in this because | was able
to know how they solved it in this study.
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